
cf=j= @)&%÷)&^ sf nfuL k|fyldls/0f eO{ ,ah]6 lalgof]hg u/LPsf of]hgf tyf sfo{qmdx?-j8f g+=@_ 

qm=;+= of]hgfsf] gfd 6f]n÷a:tL cg'dflgt nfut 

!= x'g}gfy df=lj=s'0fL n]sd–@ s'0fL 2,00,000 
@= h'/] 9'ª\uf l;rfO{ kfO{k vl/b ufF0ff ufFp 1,00,000 
#= vgf/f v]t,cf]bn v]t l;rfO{ kf]v/L lgdf{0f ufF0ff ufFp 1,30,000 
$= vfg]kfgL ;f]nf/ kDkLª l8=kL= cf/= lgdf{0f of]hgf 58fj] 1,00,000 
%= sfnf;}gL ;fd'bflos ejgsf] 5t lgdf{0f 58fj] 50,000 
^= eujtL dlGb/ hfg] af6f] lgdff{0f  s'0fL 2,00,000 
&= e6\6] vfg]kflg 6]ª\sL tyf u]6 lgdf{0f kLknsf]6 1,00,000 
*= cfO{/g ;'wf/ kLknsf]6 / vf]nL-s'0fL_  kLknsf]6,s'0fL 50,000 
(= sonkfn dlGb/ 3]/kvf{n tyf lkmN8 lgdf{0f of]hgf 9fs/f 1,50,000 
!)= bfg'uf9 36\6L3f6 t6aGw,hfnL e/fg of]hgf u/f8L 50,000 
!!= sf]gkflg vfg]kfgL 6]ª\sL lgdf{0f of]hgf kLknsf]6 50,000 
!@= j8Laf6f l;rfO{ s'nf] lgdf{0f kLknsf]6 1,00,000 
!#= w/d3/ tNnf] elgdfO{ vfg]kflg kfO{knfOg la:tf/ w/d3/ 50,000 
!$= cgf/L vf]nL vfg]kfgL d'xfg ;+/If0f of]hgf kLknvf]nL 50,000 
!%= cfsf;] kf]v/L lgdf{0f 89] /f]0ff 89]/f]0ff 45,000 
!^= wfdL ufpFb]lv wfdL ufpF;Dd klSs l;+rfO{ s'nf] 

lgdf{0f of]hgf 

u/f8L 2,50,000 

!&= cfsf;] kf]v/L lgdf{0f e6fO{h/ e6fO{h/ 75,000 
!*= s'dnsfF8f e08f/L3/ lgdf{0f of]hgf s'dnsfF8f 1,00,000 
!(= b]pef dlGb/ lgdf{0f b]pef 6d6f6f]n 40,000 
@)= vfg]kflg 6\ofª\sL lgdf{0f of]hgf s7kt],;Nnf 60,000 
@!= ;Nnf e08f/L3/ lgdf{0f of]hgf ;Nnf 1,00,000 
@@= ag:of8L 6'sf] b]lv ;fRrf]/L ;Dd af6f] lgdf{0f of]hgf s}gf]8f 1,50,000 
@#= cfwf/e't laBfno sfnf;}lg 3]/kvf{n lgdf{0f s}gf]8f s}gf]8f 1,00,000 
@$= a[4 pBfg lgdf{0f cfof]hgf s'0fL 50,000 
@%= laljw sfof{no Aoj:yfkg @ g+= j8f 1,50,000 

hDdf 25,00,000 
 


